Award Worksheet

Purchasing Entity:	Shelby County Schools			Run Date:	3/13/20	7:24 am
Bid ID:	2822	Awarded:				
Description:	Central Nutrition Center - Shelving	Bids Due By:	02/26/2020 11:00 AM			
Category:	Shelving For Various Locations	Bids Sealed Until:	02/26/2020 11:00 AM			
Effective Start Date:						
Effective End Date:						

Vendor Summary Information									
Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary						
Douglas Equipment			8,649.8900						
federal equipment dealers, inc.	DELIVERED AND INSTALL AT EACH SCHOOL.	NET UPON DELIVERY	5,270.0000						
Pueblo Hotel Supply dba Grady's Restaurant & Bar	Please see attached quote for correct specs and Pricing, Thank you	Net 30	4,837.9200						

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No lotted items found f 1	for the selected criteria. Kirby High School 5x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase Metro	Pueblo Hotel Supply dba Grady's Restaurant & Bar	189.9200	4	759.68			
	Quoted as Spec'd: Yes		Product Number: 1860NK3						
	Item Notes: Please see the atta	ched specifications for more	e information.						
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: Please S	See attached Quote for Spe	cs and Correct pricing						
	Kirby High School 5x18	1 - 1.0000 Each Purchase	federal equipment dealers, inc.	198.0000	4	792.00			
	Manufacturer & Part Number:	nexel,metro or approv	red equal - 1860						
	Quoted as Spec'd: Yes		Product Number: scs 2822k1						
	Response Item Payment Terms								
	Response Item Notes: delivere	d and installed							
	Kirby High School 5x18	1 - 1.0000 Each Purchase	Douglas Equipment	304.5200	4	1,218.08			
	Manufacturer & Part Number:	Metro - 1860nk3							
	Quoted as Spec'd: Yes		Product Number: 1860nk3						
2	Kirby High School 4x18	1 - 1.0000 Each Purchase	Pueblo Hotel Supply dba Grady's Restaurant & Bar	157.1600	3	471.48			
	Manufacturer & Part Number:	Metro - 1848NK3	,						
	Quoted as Spec'd: Yes		Product Number: 1848NK3						
	Item Notes: Please see the atta	ched specifications for more	e information.						
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: Please See attached Quote for Specs and Correct pricing								
	Kirby High School 4x18	1 - 1.0000 Each Purchase	federal equipment dealers, inc.	170.0000	3	510.00			
	Manufacturer & Part Number:	nexel, metro, or appro							
	Quoted as Spec'd: Yes		Product Number: scs2822 k2						
	Response Item Payment Terms	s: net installed							

Line Lot Number Code	Item Description Response Item Notes: delivered	Purchase Unit and installed	Vendor	Bid Price	Response Quantity	Total Price	Pending Pending Award Award Quantity Total	Pending Award		
	Kirby High School 4x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase METRO - 1848nk3	Douglas Equipment	283.8000	3	851.40				
	Quoted as Spec'd: Yes		Product Number: 1848nk3							
3	Melrose High School 6x18 Manufacturer & Part Number: Quoted as Spec'd: Yes	1 - 1.0000 Each Purchase Metro	Pueblo Hotel Supply dba Grady's Restaurant & Bar Product Number: 1872NK3	145.7200	3	437.16				
	Response Item Notes: Please see attached quote for correct specs and Pricings									
	Melrose High School 6x18	1 - 1.0000 Each Purchase nexel , metro or appro	federal equipment dealers, inc.	210.0000	3	630.00				
	Quoted as Spec'd: Yes Response Item Payment Terms Response Item Notes: delivered		Product Number: scs2822m1							
	Melrose High School 6x18	1 - 1.0000 Each Purchase METRO - 1872nk3	Douglas Equipment	339.1900	3	1,017.57				
	Quoted as Spec'd: Yes		Product Number: 1872nk3							
4	Melrose High School 4x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase Metro	Pueblo Hotel Supply dba Grady's Restaurant & Bar	157.1600	4	628.64				
	Quoted as Spec'd:YesItem Notes:Please see the attacResponse Item Payment TermsResponse Item Notes:Please s	: Net 30								

Line Lot Number Code	Item Description Melrose High School 4x18 Manufacturer & Part Number: Quoted as Spec'd: Yes Response Item Payment Terms	Purchase Unit 1 - 1.0000 Each Purchase nexel, metro or appro	Vendor federal equipment dealers, inc. ved equal - 1848 Product Number: scs2822m2	Bid Price 170.0000	Response Quantity 4	Total Price 680.00	Pending Award Quantity	Pending Award Total	Pending Award	
	Response Item Notes: delivered									
	Melrose High School 4x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase Metro - 1848nk3	Douglas Equipment	259.5500	4	1,038.20				
	Quoted as Spec'd: Yes		Product Number: 1848nk3							
5	Melrose High School 3x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase Metro	Pueblo Hotel Supply dba Grady's Restaurant & Bar	131.2400	4	524.96				
	Quoted as Spec'd: Yes		Product Number: 1836NK3							
	Item Notes: Please see the attached specifications for more information.									
	Response Item Payment Terms: Net 30									
	Response Item Notes: Please see attached quote for Correct Specs and Pricing									
	Melrose High School 3x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase nexel, metro, or appro	federal equipment dealers, inc. oved equal - 1836	142.0000	4	568.00				
	Quoted as Spec'd: Yes		Product Number: scs2822m3							
	Response Item Payment Terms	: net delivered								
	Response Item Notes: delivered	d and installed								
	Melrose High School 3x18	1 - 1.0000 Each Purchase	Douglas Equipment	230.9500	4	923.80				
	Manufacturer & Part Number:	METRO - 1836nk3								
	Quoted as Spec'd: Yes		Product Number: 1836nk3							
6	Hamilton High School 6 x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase nexel , metro, or appr	federal equipment dealers, inc.	210.0000	2	420.00				
	Quoted as Spec'd: Yes	never, merro, or appr	Product Number: scs2822h1							

Line Lot Number Code	Item Description Item Notes: Please see the atta	Purchase Unit ched specifications for more	Vendor e information.	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award		
	Response Item Payment Terms: net delivered										
	Response Item Notes: delivered and install										
	Hamilton High School 6 x18	1 - 1.0000 Each Purchase	Pueblo Hotel Supply dba Grady's Restaurant & Bar	218.8800	2	437.76					
	Manufacturer & Part Number:	Metro	·								
	Quoted as Spec'd: Yes		Product Number: 1872NK3								
	Response Item Payment Terms	s: Net 30									
	Response Item Notes: Please s	see attached quote for corre	ect specs and pricing								
	Hamilton High School 6 x18	1 - 1.0000 Each Purchase	Douglas Equipment	369.0200	2	738.04					
	Manufacturer & Part Number:	METRO - 1872nk3									
	Quoted as Spec'd: Yes		Product Number: 1872nk3								
7	Hamilton High School 5 x18	1 - 1.0000 Each	Pueblo Hotel Supply dba	189.9200	4	759.68					
1	Hamilton High School 5 x16	Purchase	Grady's Restaurant & Bar	109.9200	4	753.00					
	Manufacturer & Part Number:	Metro									
	Quoted as Spec'd: Yes		Product Number: 1860NK3								
	Item Notes: Please see the attached specifications for more information.										
	Response Item Payment Terms: Net 30										
	Response Item Notes: Please see attached quote for correct specs and pricing										
	Hamilton High School 5 x18	1 - 1.0000 Each Purchase	federal equipment dealers, inc.	198.0000	4	792.00					
	Manufacturer & Part Number:	nexel,metro or approv	ved equal - 1860								
	Quoted as Spec'd: Yes		Product Number: scs2822h2								
	Response Item Payment Terms	: net delivered									
	Response Item Notes: delivered	d and installed									
	Hamilton High School 5 x18	1 - 1.0000 Each Purchase	Douglas Equipment	298.2700	4	1,193.08					
	Manufacturer & Part Number:	METRO - 1860nk3									
	Quoted as Spec'd: Yes		Product Number: 1860nk3								

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
8	Hamilton High School 4 x18 Manufacturer & Part Number:	1 - 1.0000 Each Purchase Metro	Pueblo Hotel Supply dba Grady's Restaurant & Bar	157.1600	4	628.64				
	Quoted as Spec'd: Yes	Wetto	Product Number: 1848NK3							
	Item Notes: Please see the attac	ched specifications for more								
	Response Item Payment Terms									
	Response Item Notes: Please s		ct specs and pricing							
	Hamilton High School 4 x18	1 - 1.0000 Each Purchase	federal equipment dealers, inc.	170.0000	4	680.00				
	Manufacturer & Part Number:	nexel,metro, or approv	ved equal - 1848							
	Quoted as Spec'd: Yes		Product Number: scs2822h3							
	Response Item Payment Terms: net delivered									
	Response Item Notes: delivered and installed									
	Hamilton High School 4 x18	1 - 1.0000 Each Purchase	Douglas Equipment	262.5500	4	1,050.20				
	Manufacturer & Part Number:	METRO - 1848nk3								
	Quoted as Spec'd: Yes		Product Number: 1848nk3							
9	Cherokee Elementary 5 x 18	1 - 1.0000 Each Purchase	Pueblo Hotel Supply dba Grady's Restaurant & Bar	189.9200	1	189.92				
	Manufacturer & Part Number:	Metro								
	Quoted as Spec'd: Yes		Product Number: 1860NK3							
	Item Notes: Please see the attac		e information.							
	Response Item Payment Terms									
	Response Item Notes: Please se	ee attached quote for corre	ct specs and Pricing							
	Cherokee Elementary 5 x 18	1 - 1.0000 Each Purchase	federal equipment dealers, inc.	198.0000	1	198.00				
	Manufacturer & Part Number:	nexel, metro, or appro	ved equal - 1860							
	Quoted as Spec'd: Yes		Product Number: scs2822c1							
	Response Item Payment Terms	: net delivered								
	Response Item Notes: delivered	and installed								

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Cherokee Elementary 5 x 18	1 - 1.0000 Each Purchase	Douglas Equipment	619.5200	1	619.52			
		Manufacturer & Part Number:	METRO - 1860nk3							
		Quoted as Spec'd: Yes		Product Number: 1860nk3						